Mo MI N ED Fuel and Oil Hoses Fittings

PRODUCTS

Hose Sleeves

Part Nr Item Description

104040 HO9 Collar ID 9.Bore 5.5. LG 17

104050 H10 Collar 1D 10.Bore 6.5. LG 17

104060 H11 Collar 1D 11.Bore 7.5. LG 17 Q_
104062 H12 Collar ID 12.Bore 7.5. LG 20 ik = ;S |
104080 H13 Collar ID 13.5.Bore 10. LG 20 r
104084 H14 Collar ID 14 Bore 10. LG 20 1
104105 H15 Collar ID 16.Bore 11.7. LG 20 -
104100 H16 Collar ID 15.Bore 11.7. LG 20

104107 H17 Collar ID 17.Bore 11.7. LG 21

104112 H19 Collar ID 18.Bore 13.8. LG 21

104118 H18 Collar ID 19.Bore 13.8. LG 26

104120 H20 Collar ID 20.Bore 13.8. LG 26.5

104122 H22 Collar ID 22.Bore 15.6. LG 32.5 @
104123 H23 Collar ID 23.Bore 17. LG 32.5 1
104124 H24 Collar ID 24.5.Bore 17. LG 33 L ﬂ
104126 H26 Collar ID 26.5.Bore 19.5. LG 32.5 -
104128 H28 Collar ID 28.Bore 22.5 LG 35

104130 H30 Collar ID 30.Bore 24. LG 32.5

104132 H32 Collar ID 32.Bore 24. LG 34

104133 H33 Collar ID 33.Bore 24. LG 34

Hose Nipples with Conical Nipple

Part Nr Item Description

105050 SNO2 Nipple Hose ID 4.5 (Nut M10X1 )

105060 SNO4 Nipple Hose ID 4.5 (Nut M12x1.5)
105080 SNO6 Nipple Hose ID 4.5 (Nut M14x1.5)
105100 SNO8 Nipple Hose ID 4.5 (Nut M16x1.5)
105112 SN10 Nipple Hose ID 4.5 (Nut M18x1.5)
105150 SN13 Nipple Hose ID 4.5 (Nut M22x1.5)
105151 SN13 1/2in. Nipple Hose ID 1/2" (Nut M30x1.5)

Union Nuts Metric

Part Nr Item Description

105510 UWM 2 M10X1.0. SN to Suit SNO2
105512 UWM 4 M12X1.5. SN to Suit SNO4
105514 UWM 6 M14X1.5. SN to Suit SNO6
105516 UWM 8 M16X1.5. SN to Suit SNO8
105518 UWM 10 M18X1.5. SN to Suit SN10
105522 UWM 13 M22X1.5. SN to Suit SN13
105530 UWM 20 M30X1.5. SN to Suit SN13-1/2

Union Nuts Imperial

Part Nr Item Description

105605 UZ 2- 1/8 BSP. SN to Suit SNO2
105606 UZ 4 -1/4 BSP. SN to Suit SN04
105608 UZ 6 -1/4 BSP. SN to Suit SNO6
105610 UZ 8- 3/8 BSP. SN to Suit SNO8
Contact Us

Telephone: +27 71 868 8144
Email: info@mincoproducts.co.za



Mo MI N ED Fuel and Oil Hoses Fittings

PRODUCTS

Bonjo for Rubber Hose

Part Nr Item Description

106006 RSN 1 Banjo. Hose ID 4-5. Bolt M06

106008 RSN 2 Banjo. Hose ID 4-5. Bolt M08

106010 RSN 4 Banjo. Hose ID 5-6. Bolt M10

106012 RSN 6-4 Banjo. Hose ID 5-6. Bolt M12

106014 RSN 8-4 Banjo. Hose ID 5-6. Bolt M14 ‘
106112 RSN 6 Banjo. Hose ID 8. Bolt M12 ; e
106114 RSN 8-6 Banjo. Hose ID 8. Bolt M14 >
106214 RSN 8 Banjo. Hose ID 10. Bolt M14

106216 RSN 10-8 Banjo. Hose ID 10. Bolt M16 EE
106316 RSN 10 Banjo. Hose ID 12. Bolt M16 t -f
106318 RSN 13-8 Banjo. Hose ID 12. Bolt M18

106418 RSN 13 Banjo. Hose ID 15. Bolt M18

106422 RSN 1/2 Banjo. Hose ID 18. Bolt M22

Double Bonjo for Rubber Hose

Part Nr Item Description

106808 DRSN 2-2 Banjo Double Hose ID 4-5. Bolt M08

106810 DRSN 4-2 Banjo Double Hose ID 5-6. Bolt M10

106812 DRSN 6-2 Banjo Double Hose ID 8. Bolt M12 =

106814 DRSN 8-2 Banjo Double Hose ID 10 Bolt M14 o~ .
i

Banjo Bolts Le

Part Nr Item Description

107006 HS 1 Banjo Bolt-M6x1. LG 17. HEX SW 11

107007 HS 2 Banjo Bolt-M8x1. LG 17. HEX SW 12

107008 HS 3-1.25 Banjo Bolt-M8x1.25.LG 17. HEX SW 12

107009 HS 4 Banjo Bolt-M10x1. LG 19. HEX SW 14

107010 HS 4-1.25 Banjo Bolt-M10x1.25. LG 19. HEX SW 14

107011 HS 5 Banjo Bolt -M10x1.5. LG 19. HEX SW 14

107012 HS 6-1.25 Banjo Bolt -M12x1.25. LG 24. HEX SW 17

107014 HS 8 Banjo Bolt -M12x1.5. LG 24. HEX SW 17 )

107015 HS 9 Banjo Bolt -M14x1.5. LG 26. HEX SW 19 I BB

107016 HS 10 Banjo Bolt -M16x1.5. LG 28. HEX SW 22 ’

107018 HS 13 Banjo Bolt -M18x1.5. LG 32 . HEX SW 24

107022 HS 16 Banjo Bolt -M22x1.5. LG 39. HEX SW 27 t

107026 HS 20 Banjo Bolt -M26x1.5. LG 45. HEX SW 32

107030 HS 26 Banjo Bolt -M30x1.5. LG 51. HEX SW 36

107040 HS 1/8 Banjo Bolt -1/8" BSP. LG 19. HEX SW 14

107041 HS 1/4 Banjo Bolt -1/4" BSP. LG 26. HEX SW 19

107042 HS 3/8 Banjo Bolt -3/8" BSP. LG 28. HEX SW 22

107043 HS 1/2 Banjo Bolt -1/2" BSP. LG 39. HEX SW 27

Double Bonjo Bolts

Part Nr Item Description

107108 DHS 2 Banjo Bolt-M8x1. LG 27. HEX SW 12

107110 DHS 4 Banjo Bolt-M10x1. LG 3 . HEX SW 14 il 35/"
107210 DHS 4-1.25 Banjo Bolt-M10x1.25. LG 30. HEX SW 14 9
107112 DHS 6 Banjo Bolt -M12x1.5 . LG 38. HEX SW 17 .
107212 DHS 6-1.25 Banjo Bolt -M12x1.25 . LG 38 . HEX SW 17 6
107114 DHS 8 Banjo Bolt -M14x1.5. LG 42 . HEX SW 19 '
107116 DHS 10 Banjo Bolt -M16x1.5 . LG 46 . HEX SW 22 %
107118 DHS 13 Banjo Bolt -M18x1.5 . LG 54 . HEX SW 24

Contact Us

Telephone: +27 71 868 8144
Email: info@mincoproducts.co.za



Mo MI N ED Fuel and Oil Hoses Fittings

PRODUCTS

Standpipes 902

Part Nr Item Description

108306 BE Standpipes 902 Hose ID 5-6
108308 BE Standpipes 902 Hose ID 8
108310 BE Standpipes 902 Hose ID 10
108312 BE Standpipes 902 Hose ID 12
108315 BE Standpipes 902 Hose ID 15

Standpipes 452

Part Nr Item Description

108307 BE Standpipes 452 Hose ID 5-6 mm

108309 BE Standpipes 452 Hose ID 8mm o

108311 BE Standpipes 452 Hose ID 10mm ! "r

108313 BE Standpipes452 Hose ID 12mm T
d

Standpipes

Part Nr Item Description

108504 BE Standpipes Hose ID 4 mm

108505 BE Standpipes Hose ID 5 mm

108506 BE Standpipes Hose ID 6 mm

108508 BE Standpipes Hose ID 8 mm

108510 BE Standpipes Hose ID 10 mm

108512 BE Standpipes Hose ID 12 mm l l

108515 BE Standpipes Hose ID 15 mm L'J

108518 BE Standpipes Hose ID 18 mm

Solder Banjo

Part Nr Item Description

109008 RL Banjo Solder Pipe OD M5. Bolt M8

109010 RL Banjo Solder Pipe OD M6 Bolt M10

109012 RL Banjo Solder Pipe OD M6. Bolt M12

109112 RL Banjo Solder Pipe OD M8. Bolt M12

109114 RL Banjo Solder Pipe OD M8. Bolt M14

109214 RL Banjo Solder Pipe OD M10. Bolt M14

109216 RL Banjo Solder Pipe OD M10. Bolt M16

109316 RL Banjo Solder Pipe OD M12. Bolt M16

109318 RL Banjo Solder Pipe OD M12. Bolt M18

109418 RL Banjo Solder Pipe OD M15. Bolt M18

109422 RL Banjo Solder Pipe OD M18. Bolt M22

109526 RL Banjo Solder Pipe OD M22. Bolt M26

109530 RL Banjo Solder Pipe OD M28. Bolt M30

Solder Double Banjo

Part Nr Item Description

109608 DRL Banjo Double Solder Pipe OD M5. Bolt M8
109610 DRL Banjo Double Solder Pipe OD M6 Bolt M10
109612 DRL Banjo Double Solder Pipe OD M8. Bolt M12
109614 DRL Banjo Double Solder Pipe OD M10. Bolt M14
109616 DRL Banjo Double Solder Pipe OD M12. Bolt M16
Solder Stud

Part Nr Item Description

109806 AL 4 Solder Stud Pipe OD M06. M12 x 1.5 ©
109808 AL 6 Solder Stud Pipe OD M08. M14 x 1.5
109810 AL 8 Solder Stud Pipe OD M10. M16 X 1.5
Contact Us

Telephone: +27 71 868 8144
Email: info@mincoproducts.co.za



Mo MI N ED Fuel and Oil Hoses Fittings

PRODUCTS

Sealing Cone

Part Nr Item Description

109705 LN 5 Sealing Cone Pipe OD M5 . Nut UWM 2

109706 LN 6 Sealing Cone Pipe OD M6 . Nut UWM 4

109708 LN 8 Sealing Cone Pipe OD M8 . Nut UWM 6

109710 LN 10 Sealing Cone Pipe OD M10 . Nut UWM 8

109712 LN 12 Sealing Cone Pipe OD M12 . Nut UWM 10

109715 LN 15 Sealing Cone Pipe OD M15 . Nut UWM 13

109718 LN 18 Sealing Cone Pipe OD M18

109722 LN 22 Sealing Cone Pipe OD M22 . Nut UWM 13

Hose Nipples

Part Nr Item Description

110205 SA Hose Nipple ID Hose 4-5 . M10x1.0 -
110206 SA Hose Nipple ID Hose 5-6 . M12x1.5 3
110208 SA Hose Nipple ID Hose 8 . M14x1.5

110210 SA Hose Nipple ID Hose 10 . M16x1.5

110212 SA Hose Nipple ID Hose 12 . M18x1.5

Bonjo for Nylon Tube

Part Nr Item Description

120505 RSP 4-08 Banjo Nylon Tube ID M04.Bolt M08

120506 RSP 4-10 Banjo Nylon Tube ID M04. Bolt M10

120507 RSP 4-12 Banjo Nylon Tube ID MO04. Bolt M12

120508 RSP 4-14 Banjo Nylon Tube ID M04. Bolt M14

120509 RSP 4-16 Banjo Nylon Tube ID MO04. Bolt M16

120516 RSP 5-08 Banjo Nylon Tube ID MO05. Bolt M12

120520 RSP 6-10 Banjo Nylon Tube ID MO06 . Bolt M10

120521 RSP 6-12 Banjo Nylon Tube ID MO06 . Bolt M12

120522 RSP 6-14 Banjo Nylon Tube ID MO06 . Bolt M14

120523 RSP 6-16 Banjo Nylon Tube ID MO06 . Bolt M16 3
120530 RSP 8-12 Banjo Nylon Tube ID M08 . Bolt M12 W2
120531 RSP 8-14 Banjo Nylon Tube ID M08 . Bolt M14

120532 RSP 8-16 Banjo Nylon Tube ID M08 . Bolt M16

120540 RSP 9-14 Banjo Nylon Tube ID M09 . Bolt M14

120541 RSP 9-16 Banjo Nylon Tube ID M09 . Bolt M16

Nipples for Nylon Tube

Part Nr Item Description

120600 SP 4-10 Nipple Nylon Tube ID M4 . Nut M10x1.0
120601 SP 4-12 Nipple Nylon Tube ID M4 . Nut M12x1.5
120610 SP 6-14 Nipple Nylon Tube ID M6 . Nut M14x1.5
120616 SP 8-16 Nipple Nylon Tube ID M8 . Nut M16x1.5
120620 SP 9-16 Nipple Nylon Tube ID M9 . Nut M16x1.5
120622 SP 9-18 Nipple Nylon Tube ID M9 . Nut M18x1.5

Injector Solder Nipple

Part Nr Item Description

123022 Solder Nipple M12

123024 Solder Nipple M14 Tﬁ
Injector Sleeves

Part Nr Item Description

123032 Sleeve M12

123034 Sleeve M14

Injector Nut

Part Nr Item Description
123042 Nut M12X1.5 B 4
123044 Nut M14X1.5

<
Contact Us

Telephone: +27 71 868 8144
Email: info@mincoproducts.co.za



